I'NITOTE3A CTPOEHUSA TIPOTOHA

duznueckre 3aKOHbI Ha YPOBHE UCCIIEOBAHUS aTOMA U /Ipa UMEIOT CBOU
OCOOCHHOCTH.

B «aromMHOM»  HM3MepeHHMM  TIPOTOH MOKeT OBbITh NpeACTaBJeH, Kak
MO3UTPOHHOE SIIPO C IJIEKTPOHHOI 000104KOM.

[TpenmoiokeHus U BBIBOIBI:

1. ITpoton coctout u3 1836 snexkrpoHoB u 1837 MO3UTPOHOB,

2. 'uraHTCKOE KOJMYECTBO HECTAOMIIBHBIX «3JIEMEHTAPHBIX YaCTHIDY, BOSHUKAIOIIIX
B PE3yJIbTaTe MPUHYAUTEIBHOTO Pa3pylIeHUs MPOTOHA — 3TO BCETO JIHMIIh KOMOWHAIMH
MTO3UTPOHOB U AJICKTPOHOB;

3. B «iamepHOoM» Wu3MEpeHHMH TIPOTOH HMEET OoJiee CIOKHYI CTPYKTYPY
(aHAJIOTUYHYIO CTPOEHUIO aTOMA).

4. Macca ITPOTOHA paBHA MACCC JJICKTPOHOB.

Hypothesis structure of protons
The physical laws at the level of the study of the atom and the nucleus have

their own characteristics.

The "atomic" dimension proton can be presented as the core of positron in the
electron shell.

The assumptions and conclusions:

1. The proton consists of 1836 electrons and positrons in 1837,

2. The huge amount of unstable "elementary particles", arising from the forced
destruction of the proton - it is just a combination of positrons and electrons;

3. In the "nuclear” measuring proton has a more complex structure (similar to the
structure of the atom).

4.Massa proton is the mass of the electrons.



